MARKING SCHEME FOR PROPOSED DISTRICT PHYSICS EXAM FOR S3/2022-2023.
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The force on the 2" piston is 180.952N

b) The pressure on other piston is 20000Pa because the pressure exerted to one piston( 1* ) is

equal to pressure exerted to another piston (2 ) “pressure applied to an enclosed fluid, is
transmitted equally to every part of the fluid.”

12. a) Negative

b)Q = 820/, W = 725] < AU = Q + W — AU = 820] — 725] = 95]
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13.

Renewable energy sources

Non-renewable energy sources

They are inexhaustible

2. They do not cause any pollution
3
4. Can be converted to electricity which

Can be replenished

is stored and transmitted to our home
to be used.

T. They will be exhausted one day
2. They cause pollution when used

4. Cannot be replenished
4.comes from the fossil fuels
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OR: The kinetic energy will be 4times the first K.E.
1) 1)
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SECTION B: ATTEMPT ANY THREE QUESTIONS. (30 MARKS)
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(@)

Specific heat capacity Heat capacity
The specific heat capacity of a | Heat capacity of a material is the
material is the energy needed (o raise | amount of heat energy needed for

one unit mass of that material of one | a substance’s temperature to raise
degree Celsius and it is constant for a | by one Celsius and depends on the

given substance. ‘mass of the substance.
Tts unit is J/kg K or Jkg °C Tts unit is JAg or JAg
2 a=L
mAT ar

(b) (i) Conduction of heat is a process in which heat is transferred from the hotter
part 1o the colder part in the solid body from one molecule to another
molecule as a result of the vibratory motion of the molecules.

(ii) Convection of heat is a process of heat transfer in the liguid and gas from
a region of high temperature to a region of low temperature due to actual
movement of molecules or due to mass transfer.

(iii) Radiation of heat is a process in which heat is transferred from one body
to another without involving the molecules or the medium.
(©) (i) Vacuum
(ii) Vacuum is a lack of atoms without atoms you examinate conduction
and convection of heat.
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ii) Silvered inner surfaces.
(iv) It reflects the radiation (infrared) towards the liquid.
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a) Force is that which changes a body’s state of rest or of uniform motion in a
straight line. The unit of force is Newton i.e. the force needed to five a mass of
one kilogram an acceleration of one meter per second squared. Pressure is the
force acting normally per unit area. The unit of pressure is Newton per meter
squared (N/ni’). 1 N/m’ is the same as 1 Pascal (1 Pa).

b) When the fluid is completely enclosed in a vessel and a pressure is applied to
it at any part of its surface, then the pressure is transmitted equally throughout
the whole of the enclosed fluid.

¢) Water is poured into a metal can and then heated while its mouth open. Water
is allowed 10 boil for some time driving out all the air in the can. The steam above
the water in the metal can drives out all the air in the can. The can is then tightly
fitted in the mouth of the can and then the flame is removed. Cold water is then
poured over the can. This causes the steam inside the can to condense producing
water and water vapour at very low pressure. The outside atmospheric pressure
on the can causes the can to collapse inwards hence demonstrating large forces
which can be produced by atmospheric pressure.
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a) A uniform acceleration is the constant rate of change of increasing velocity of
a moving body.
b)u=10mbs; V=20mls;1=5s

vou _ 20-10

= 2m/s?
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) i) Retardation is the constant rate of change of decreasing velocity of a moving

_ @25mys _

_ 2
= 1.24m/s
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a) A magnetic material is a substance which can be magnetized or attracted by a
magnet. E.g. Iron, coball, nickel.
b) Induction, electrical method

o

neutral point
d) The magnet is demagnetized or it loses its magnetic properties.

¢) The bar magnet is suspended on a string when it comes 1o rest, the north
magnetic pole points to the north geographical pole of Earth.





image18.png
(a) (i) A good conductor is a material which allow the flow of current easily or a
material which has low resistance or a material which has free electrons.

i) A bad conductor is a material which has high resistance or which does not
allow the flow of current or which electrons do not move.

(b) Along thin wire because the resistance of the wire increases with the length
and strangle the passage of electron in small section. Or a long a thin wire the

resistance is directly proportional 1o the length of the wire and inversely
proportional to the cross sectional area. R = (p‘i
©@R=Ri+Ry+R;=2+4+6=12Q

a1

pioilyl
) =mtntn=:
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(d) When one resistor is removed the current continue to flow or resistor work
independently. The net resistor in parallel i less than that of in series. In parallel
the resistor have the same voltage.
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SECTION C: This questi compulsory
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(b)

Resistance, R/Q [ Current, I/A 1 1/[1
current’T

2 0.385 2.6
4 0.250 4.0
6 0.200 5.0
8 0.150 6.7
10 0.125 8.0
12 0.100 10.0
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@E=5=r==1540

E=15V

This result i reasonable because a new dry cell has an e.mfof 1.5 V.
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1. a)The centre of gravity of a body is the point from which the whole weight of the body
appears to act.

b) the condition of body to in stable equilibrium:
a. the centre of gravity is as low as possible.

b. the area of the base is as large as possible, and

c. the vertical line drawn from the centre of gravity falls within its base

2. a)Heat b) potential energy  ¢) force of gravity ( acceleration due to gravity) ~d) power
3. a) false b) true ) false d) false

41ed  2ea 3eb 4o

5. a) the physical qty which is constant on Boyle’s law is i) temperature
b) the nature of volume-temperature graph on Charles’s law is i) straight line

oiii.

6.2) (1) Single touch method (2) Double touch method (3) Using electric current (4) induction.

b) We now know that atoms are made up of three particles known as subatomic
particles: protons, neutrons and electrons.

7.a) Any charged object - whether positively charged or negatively charged - will have an
attractive interaction with a neutral object. Positively charged objects and neutral objects attract
each other; and negatively charged objects and neutral objects attract each other.

What happens when a positively charged body is brought near a neutral body?
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7.a) Any charged object - whether positively charged or negatively charged - will have an
attractive interaction with a neutral object. Positively charged objects and neutral objects attract
each other: and negatively charged objects and neutral objects attract each other.

What happens when a positively charged body is brought near a neutral body?
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When a positively charged body is brought near to a neutral body, the in the neutral body get
aligned towards the positively charged body. When a positively charged body is brought near
to a neutral body, the in the neutral body get aligned towards the positively charged body.
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b) the rod gets positive electric charge because electrons are transferred from the glass to the silk.
) The electric potential will be halved if the distance is doubled.
V=Kq/d if d=2d then V=Kq/2d which is v/2

8. ) The greater the height of the water tank, the more water pressure will be there in the taps of
the houses. There is a scientific reason behind placing tanks on high towers. This is because to
get the maximum gravitational force so that water flows easily into the pipes.

b) Create more pressure, because when we decrease area of object the pressure increase as the
pressure is a force acting.

9.
impulse Linear moment
T. Tmpulse is product of the force and the time 1. Itis the product of velocity and
the force acts on an object the mass of an object
2. I-Fxt 2. Pemxv
3. Its Sl units is Newton-second (N's) 3. 2.1ts ST unit is kilogram-metre
per second (kg mis)
10.0)
force pressure
T. Ttis a pull or push on object Tt is a force acting normally per unil area
2. F-ma P-F/A
3. Unit is Newton/N 2.unit N/m®
4. Itis vector gty 3. it is a scalar qty

b) The depth (distance from top to bottom) of the atmosphere is greatest at sea level and
decreases at higher altitudes. With greater depth of the atmosphere, more air is pressing
down from above. Therefore, air pressure is greatest at sea level and falls with increasing
altitude.




image5.png
) Sucking through a straw, reduces the air pressure inside the straw. The atmospheric pressure
forces the water into your mouth through the straw




